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You take a Loan of 100 
from the bank for 1 year. 

   1    
   

And the bank says you have to pay 
10% Simple Interest* per year. 

        10% 
     

CHAPTER - 2 

Financial Competencies 

1. Interest on Loan (   ) 

10 (Simple 
Interest*)  

          )  10 (  *)      
 

Simple Interest* calculation (   *  ) 

( 100 × 10100 × 1 = 10) 
i.e. 

I = (P × 100) × n where 

P = principal; I = interest; r = rate of interest and n = no. of years 

P = ;  = ; r =     n =    

2. Compounding (   ( )) 

Compounding is also called ‘Interest on Interest’. In compounding, the benefit is that the 
interest earned is added to the principal and re-invested, therefore earning interest on the 
principal PLUS interest! 

  ( )  '   '     
               

   ,         
  ! 

And when this compounding takes place over a long 
duration, the return become much higher compared 
to simple interest*! 

        ,     
        * !  
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An example to explain this: 

YEAR 1 

Principal 10,000 

Interest @10% (compounded yearly) 1,000 

Amount at the end of Year 1 11,000 

YEAR 2 

 
 

1,100 

Amount at the end of Year 2 12,100 

YEAR 3 

 
(the Amount at the end of Year 2) 

1,210 

Amount at the end of Year 3 13,310 

Formula for Compounding (    ) 

A = P ( 100 × 10100 × 1 = 10) 
i.e. 

I = (P × 100) × n where 

Where A = Amount; P= Principal; r = Interest rate (Decimal); n = no. of times compounded in 
one year; t = time period in years 

 A = ; P = ;  =   ( ) ; n =     ( )  ; t =    

The power of compounding (   ) 

10,000 earning Simple Interest* of 10% when invested for 10 years ut 
 

10,000   10%     10         20,000      
    10%         

[= 10000 ×  (1+((10/100)/4)))4×10 

= 10000 × 2.6851 

= 26,851] 

 

,     6,851   34%      ! 
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2023 
Say you get 1 kg apples for 100. 

     1  
   

2024 
The same 1 kg now costs 110. 

 1       

3. Inflation ( ) 

 

Inflation in 1 Year 
Inflation = 110 – 100 = 10 

Or 
(10/100) × 100 = 10% 

So, inflation is the rate of increase in prices of goods and services over a period of time. This 
increases the cost of living. 

               -       

4. Time Value of Money

The time value of money (TVM) is the concept that 
money available now is worth more than the same 
amount of money available in the future due to its 
potential earning capacity, provided the rate of 
interest is positive. 100 today may not be equivalent 
to 100 to be received after two years. 
4.     

    ( )       
           

     ,       
             

5. Risk vs. Return 

Any investment entails a certain degree of risk.  

Generally, there is a direct correlation between risk and return. The higher the expected return, 
the higher the risk (including the possibility of losing the initial investment as well). 

5.    

           

  ,             ,       
(         ) 
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Invest your money wisely! 

Beware! High and quick return schemes could be risky. Do 
not chase returns without understanding the risks!  

Thoroughly check the background and performance of the 
entity offering the scheme. Read the terms and conditions 
carefully.  

Do your study and due diligence before being lured by ‘Too 
Good To Be True’ schemes of unknown entities!!! 

       ! 

!               ,      ! 

                      
  

   '        (   )'           
       !!! 

RBI Kehta Hai and RBISAY 

RBI has launched a mass media public awareness campaign (SMS, 
Electronic and Print Media, Facebook and Twitter) to educate the public 
about financial literacy and consumer protection messages. 

    RBISAY 

                
         ( ,    

,   )    

6. Diversification ( ) 

We all know the age-old saying 

        

Do not put all your eggs in one basket.  

        

Diversification is the process of investing your money in different assets. 

    -           

Why Diversify  

The reason one should diversify by investing in different assets is to protect oneself from loss 
arising from fall in value of any one or more assets. As the returns of the different assets may 
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not fall together, a fall in the price of one asset may be compensated by a rise in the price of 
another asset thereby safeguarding one’s investments from losses. 

  

                    
                     
 ,                   ,    

       

 

 

 

 
 

 

 

 

 

  


